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72x (9+3) =T72x 3 = 216
(72x9) +3 = 648 + 3 = 216
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@72—(35+26) @ 75+ 46 - 69
® 51-49 + 36 @ 51— (16 + 16)

® 40 + (100 — 68)
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D@ 72-(35+26)=72-61=11

@ 75446 — 69 = 121 — 69 = 52

®51-49+36=2+36=238

@ 51 - (16+16)=51-32=19

® 40 + (100 - 68) = 40 4 32 = 72
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(o]0 ofH 2] AA)

= (0]%0] o] )xd = 11 x 4 = 44(A])

(MY A = (0]%0°] 11o]) x3 +5 =11 x 3+ 5 = 38(A)
(oFH A 2F oL o] A A

=(oFH A AA)-(1HY FA)

=44-38 =6 (A)
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@ 74-81+9x4+35
©{(31-3)=4-3}x9-7

cCh "
H -
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> = 102
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@ 74-81+9%x4+35
=74-9%x4+35
=74 -36 + 35
=38435=173

O©{(381-3)+4-3}x9-7
=(28+4-3)x9-7
=(7T-3)x9-7
=4x9-7
=36-7=29

meb £ 40 52 Fotd

QD+O="73+29=102
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7+ 8 =15, 15 x 59 = 885,
885 — 57 = 828, 828 + 46 = 18

@ (74 (8x59) =57} + 46 = 18
@)(7+8) x 59— 57) = 46 = 18
® {7+8x (59 —57)} + 46 = 18
@ 74+ {8x (59— 57)) +46 = 18

® 7+8x{(59-57) + 46} = 18
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o= 7 A2 ( )E AHgsto] shuol Ao g el Zlo e 22
AL ol AJdY7?
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5x{(6+14)x 2 — 10} + 15

® 163 @ 165 ® 160 @ 157

® 168

() { Prd=sAdAX=( )t HAA
{ ISt A4t
5x{(6+14) x2— 10} + 15
=5x{20x2— 10} + 15

=5x (40 - 10) + 15

=5x30+ 15

=150+ 15
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250 x 8 4 (250 X 6 4 300) x 3
= 250 x 8 + (1500 + 300) x 3
=250 x 8 + 1800 x 3

= 2000 + 5400

= 7400 (9)
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25X 8 + 8 X 7 = 200 + 56 = 256( X&)

k2] 256 ~ 60 =4---160| L2
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56+8-6+2=14

@® 56+8—(6+2)=14
® (56+8-6)+2=14

® 56+ (8-6+2)=14

@ (56+8)-6+2=14
@56+(8—6)+2:14

B

D56+8-(6+2)=7-3=4

@ (56+8)-6+2=T7-3=4
®(6+8-6)+2=(7T-6)+2=1+2
®56+(8-6+2)=56+(8-3)=56+5




